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2000

1000

0

4000
3000
2000

1000

TVC(cbch) (4,4,2)

Tnanzzze+u4 125
s, po 4256+ 0.0
L pl -35.66 + 0.00

3000

TP delay [ns]

TVC(Cbch) (4 4,6

- o 838e+04 | 25
e pO 4277+ 0.0
L pl -37.73+ 0.00

3000

TP delay [ns]

TVC(ebeh)=(4, 4, 10

1 nuiLgUse+U6 / 25
po 4305+ 0.0
p1 -36.02 + 0.00

TP delay [ns]

TVC(cbch) (4,4,14

- 1L s9ve+Us / 25
4272+ 0.0
-34.4+ 0.0

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,4,3

A~ 1 nuiz5o9e+ud [ 25
= po 4263+ 0.0
pL -36.52:+ 0.00

TP delay [ns]

TVC(c,b ch) (4 4,7

= 1nu g ze+ud [ 25
[Foses po 4271+ 0.0
p1 -36.73+ 0.00

50 160
TP delay [ns]

TVC(c,b ch) (4, 4

1)
-1 nuiLuyse+u6 / 25
k. pO 4312+ 0.0
p1 -37.25+ 0.00

TP delay [ns]

TVC(c,b ch) (4, 4 15

- 1z z0ae+U5 | 25
pO 4271£ 0.0
pL -35.04 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (4,5,0)

T Lyve+ud /25
prmese pO 4242+ 0.0
pl -36.32 0.00

TP delay [ns]

TVC(cbch) (4,54

- rnug.z11e+u4 [ 25
- pO 4245+ 0.0
pl -36.71 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (4 5,8

T 1use+u5 /25
- pO 4297+ 0.0
pl -37.33+ 0.00

TP delay [ns]

TVC(cbch) (4,5,12

T rnuzg1se+us / 25
pO 4280+ 0.0
pl -35.12+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,5,1)

X~ Z.ze+ud |25
pesase. po 4251+ 0.0
pL -37.84+ 0.00

TP delay [ns]

TVC(c,b ch) (4 55

- nu 318e+u4 / 25
e pO 4249+ 0.0
pL -36.85+ 0.00

TP delay [ns]

TVC(c,b ch) (4 59

1 nu.BUse+Us / 25
e DO 4314+ 0.0
pl -37.22+ 0.00

TP delay [ns]

TVC(C, bch) (4,5,13

T 1 nuis.uzye+us / 25
P pO 4278+ 0.0
pl -34.54 + 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000
3000
2000

1000

0

4000

3000
2000

1000

TVC(cbch) (4,5,2)

K™ 1 nuiLguze+ud / 25
prese, po 4262+ 0.0
L pl -36.85+ 0.00

3000

TP delay [ns]

TVC(cbch) (4,56

TrnaZze+u4 [ 25
e pO 4260+ 0.0
[ pl -36.11+ 0.00

TP delay [ns]

TVC(cbch) (4, 5 10

1 nuiz,guse+u6 / 25
DO 4313+ 0.0
pl -36.78 + 0.00

TP delay [ns]

TVC(cbch) (4,5,14

- s.47e+U5 ] 25
pD 4291+ 0.0
pl -35.74.+ 0.00

PR SR T
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,5,3

AT rnuz3r1e+u4 /25
peme=e po 4267+ 0.0
pl -35.93+ 0.00

TP delay [ns]

TVC(c,b ch) (4 57

=1 i bype+us / 25
4260+ 0.0
-36+ 0.0

TP delay [ns]

TVC(c,b ch) (4, 5

T, /4be+u6/25
k. pO 4310+ 0.0
p1 -36.77 + 0.00

TP delay [ns]

TVC(C, bch) (4,5,15

T nug.py/e+U5/ 25
Fronee, po 4277+ 0.0
p1 -34.72 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,6,0)

A7 1 nui yuse+ud / 25
prmese po 4242+ 0.0
pl -37.55+ 0.00

TP delay [ns]

TVC(cbch) (46,4

Uiz /1e+U4 [ 25
e po 4256+ 0.0
pl -37.07 + 0.00

TP delay [ns]

TVC(cbch) (4 6,8

a2 ygoe+u4 | 25
- pO 4274+ 0.0
pl -35.99+ 0.00

TP delay [ns]

TVC(cbch) (4,6,12

- i gove+Us / 25
pO 4288+ 0.0
pl -36.02+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 [,

3000

2000

1000

TVC(cbch) (4,6,1)

AT 1 nuz.ubye+ud [ 25
- po 4260+ 0.0
p1 -38.24+ 0.00

TP delay [ns]

TVC(c,b ch) (4 6,5

-1 nuz.gsae+ud | 25
e po 4248+ 0.0
pl -37.03+ 0.00

TP delay [ns]

TVC(c,b ch) (4 6,9

T nug g31e+U5 / 25
po 4276+ 0.0
pl -35.98 + 0.00

TP delay [ns]

TVC(C, bch) (4,6,13

~ 1 nug ysse+ud / 25
4279+ 0.0
-36.11 + 0.00

PR BRSNS |
50 100

TP delay [ns]

4000

3000
2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

0

4000

3000
2000

1000

TVC(cbch) (4,6,2)

K71 nuig zuoe+u4 [ 25
_E - po 4273+ 0.0
L pl -38.36 + 0.00

TP delay [ns]

TVC(cbch) (4,6,6

- 1wz 9gse+ud [ 25
e, po 4254+ 0.0
F pl -37.02 + 0.00

TP delay [ns]

TVC(cbch) (4, 6 10

T nuiLUsZe+U6 / 25
F DO 4289+ 0.0
L pl -36.54 + 0.00

TP delay [ns]

TVC(cbch) (4,6,14

TrnuiLzs/e+Us /25
5 pD 4266+ 0.0
L p1 -35.68 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,6,3)

prmase. po 4275+ 0.0
pl -37.72+ 0.00

AT 1 nuz,sbae+u4 [ 25

TP delay [ns]

TVC(c,b ch) (4 6,7

= po 4263+ 0.0
pl -36.31+ 0.00

S nug3y/e+u4 / 25

TP delay [ns]

TVC(c,b ch) (4, 6

= p0 4292+ 0.0

Jnurg us/e+u6/25

35.83 + 0.00

TP delay [ns]

TVC(C, bch) (4,6,15

F pO 4283+ 0.0
pL -35.76 + 0.00

1 nuiz, 102e+U5 / 25

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,7,0)

A”

po
pL

1 nui Byoe+ud | 25
4258+ 0.0
-36.25+ 0.00

TP delay [ns]

TVC(cbch) (4,7,4

-1z 319e+04 / 25
4271+ 0.0
-36.95+ 0.00

TP delay [ns]

TVC(ebeh)=(4,7,8

pO
p1

- 1 1nug Oyoe+ud / 25
4283+ 0.0
-36.31+ 0.00

TP delay [ns]

TVC(cbch) (4,7,12

T g zsve+Us / 25
4300+ 0.0
-35.51+ 0.00

1
100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,7,1)

po

AT 1 nuzuLse+u4 / 25
4272+ 0.0
-36.21+ 0.00

p1

TVC(ebeh)=(4,7,5

1
100

TP delay [ns]

nut

5811/ 25
4273+ 0.0
-36.18 + 0.00

TP delay [ns]

TVC(c,b ch) (4,7,9

pO
pl

1 nuiLyyze+u6 / 25
4303+ 0.0
-36.15+ 0.00

1
100

TP delay [ns]

TVC(c,b Ch) (4, 7 13

TinuiL//e+u5/ 25
4308+ 0.0
-36.1+ 0.0

il
100

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000
3000
2000

1000

0

4000

3000
2000

1000

TVC(cbch) (4,7,2)

A"

po
pl

1 nug, zsse+ud | 25
4263+ 0.0
-36.26 + 0.00

TP delay [ns]

TVC(cbch) (47,6

- rnubgle+ud [ 25
4277+ 0.0
-36.25+ 0.00

F== "

L p1

[ C=27.59 [ps/ch ]
4 o

TP delay [ns]

TVC(ebeh)=(4, 7, 10

pO
pl

1 nuiL 38be+U6 / 25
4297+ 0.0
-35.68 + 0.00

1
100

TP delay [ns]

TVC(cbch) (4,7,14

pD

pl

1z, go4e+05 / 25
4305+ 0.0
-35.26 + 0.00

PR
100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,7,3)

X

po
pL

g, 2sze+u4 [ 25
4283+ 0.0
-36.33+ 0.00

TVC(c,b ch) (4 7,7

pO
pl

1
100

TP delay [ns]

-1 nui U33e+U5 / 25
4284+ 0.0
-35.11 + 0.00

TP delay [ns]

TVC(c,b ch) (4, 7

1)
T nai 725e+U6 / 25
4298+ 0.0
-36.4 £ 0.0

1
100

TP delay [ns]

TVC(c,b ch) (4, 7 15

pO
p1

Tonanz.73e+u5 /25
4305+ 0.0
-35.08 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 =

3000

2000

1000

TVC(cbch) (4,8,0

A~ 1nui rore+V4 /25
prmese po 4245+ 0.0
pl -36.58 + 0.00

TP delay [ns]

TVC(cbch) (4,84

T r3/e+04 [ 25
- pO 4248+ 0.0
pl -36.23+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (4 8,8

©nu p3be+u4 / 25
~ pO 4249+ 0.0
p1 -34.82 + 0.00

TP delay [ns]

TVC(cbch) (4,812

1 nup.29ze+05 / 25
pO 4250+ 0.0
pl -34.99 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 E,

3000

2000

1000

TVC(cbch) (4.81)

T Lsse+ud [ 25
pesese pO 4248+ 0.0
pl -36.62 + 0.00

TP delay [ns]

TVC(c,b ch) (4 8,5

T nuZ3e+u4 [ 25
4253+ 0.0
-36.6 + 0.0

TP delay [ns]

TVC(c,b ch) (4 8,9

~ 1 nu.p/Ye+U5 / 25
po 4256+ 0.0
p1 -34.54 + 0.00

TP delay [ns]

TVC(C, bch) (4,813

Tinugzz1e+U5/ 25
pO 4256+ 0.0
p1 -35.6 + 0.0

TP delay [ns]

4000

2000

1000

4000
3000
2000

1000

4000
3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (4,8,2)

K™ 1 nuig 1ove+u4 / 25
- po 4260+ 0.0
o pl -35.99+ 0.00

3000

TP delay [ns]

TVC(cbch) (4,86

-, r9pe+ud | 25
pO 4267+ 0.0
pl -36.36+ 0.00

TP delay [ns]

TVC(cbch) (4, 8 10

1 nuiLbEYe+U6 / 25
po 4281+ 0.0
p1 -35.34 % 0.00

TP delay [ns]

TVC(cbch) (4,814

T g, ryze+U5 / 25
pD 4258+ 0.0
pl -35.98 + 0.00

PR IR SRR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,83)

T zs1e+u4 /25
peme= pO 4262+ 0.0
pl -36.58 + 0.00

TP delay [ns]

TVC(c,b ch) (4 8,7

- 1nu 31e+U5/ 25
e, pO 4257+ 0.0
pL -35.97+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (4, 8

T 4ue+u6/25
pO 4271+ 0.0
p1 -34.53+ 0.00

TP delay [ns]

TVC(C, bch) (4,815

T num, sz24e+U5 / 25
pO 4253+ 0.0
p1 -34.68 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,9,0)

A”

po
pL

1 g Usse+u4 | 25
4288+ 0.0
-36.47 + 0.00

TP delay [ns]

TVC(cbch) (49,4

T rnwazare+V4 /25
4273+ 0.0
-36.42 + 0.00

- pO
p1
- C N
1 1 -
50 100
TP delay [ns]
TVC(cbch) (4,9,8)
-1 nuiL, rgoe+U5 / 25
e, pO 4270+ 0.0
p1 -34.79 + 0.00

1
100

TP delay [ns]

TVC(Cbch) (4, 9 12

© g, 343e+05 / 25
4291+ 0.0
-35.65+ 0.00

PR
100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,9,1)

X

po
pL

1. 3o /e+ud | 25
4287+ 0.0
-36.57 + 0.00

TVC(c,b ch) (4 9,5

pO
pl

1
100

TP delay [ns]

-1 nu Yoze+ud / 25
4279+ 0.0
-35.84 + 0.00

TVC(c,b ch) (4 9,9

1
100

TP delay [ns]

po

pl

<1 nuiL4pbe+U6 / 25
4280+ 0.0
-34.17 + 0.00

1
100

TP delay [ns]

TVC(c,b Ch) (4, 9 13

Tinug./r3e+U5/ 25
4295+ 0.0
-35.95+ 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

4000

3000

2000

1000

4000
3000
2000

1000

TVC(cbch) (4,9,2)

A"

po
pl

1 nug, 3yne+ud | 25
4291+ 0.0
-36.76 + 0.00

TP delay [ns]

TVC(cbch) (4,9,6

1000

= 11U 304e+05 / 25
4300+ 0.0
-37.18 + 0.00

== "

L pl

r C =26.89 [ps/ch 7
L 10‘0 =

TP delay [ns]

TVC(eb,oh)=(4, 9, 10

pO

pl

1 nuiLysYe+U6 / 25
4277+ 0.0
-33.23+ 0.00

- C =30.00 [ps/ch] -, 7

0

50

1
100

TP delay [ns]

TVC(cbch) (4,9,14

T, r51e+U5 / 25
4275+ 0.0
-33.94 + 0.00

PR
100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,9,3)

pO

pl

T,/ (be+u4 [ 25
4310+ 0.0
-37.01+ 0.00

TVC(c,b ch) (4 9,7

TP delay [ns]

- 11U Zbae+u5 / 25
4302+ 0.0
-37+ 0.0

TVC(c,b ch) (4, 9

1
100

TP delay [ns]

pO
pl

AL 55::e+u6/25
4286+ 0.0
-34.12+ 0.00

TP delay [ns]

TVC(c,b ch) (4, 9 15

T inumy.u//e+u5/ 25
4295+ 0.0
-35.22+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000 [,

3000

2000

1000

TVC(CbCh) (4, 10 0)

©rnuizusoe+u4 | 25
freese. pO 4216+ 0.0
p1 -35.16+ 0.00

TP delay [ns]

TVC(Cbch) (4, 10 4

= i g0se+u4 [ 25
[Foaa. po 4269+ 0.0
pl -35.14 + 0.00

TP delay [ns]

TVC(cbch) (4,10,8

© g zoze+U5 | 25
po 4272+ 0.0
pl -36.16 + 0.00

1
0 50 00

TP delay [ns]

TVC(Cbch) (4, 10 12

~ 1, ryve+Us / 25
po 4299+ 0.0
pl -36.31+ 0.00

L n n n n 1
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000 [

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (4,10,1)

AT 1 nuzusze+u4 | 25
frsase po 4242+ 0.0
p1 -35.01+ 0.00

TP delay [ns]

TVC(c,b Ch) (4, 10 5

-1 nu 18be+04 / 25
e, pO 4261+ 0.0
p1 -34.93+ 0.00

TP delay [ns]

TVC(c,b ch) (4,10,9

T nuiL B23e+U6 / 25
pO 4282+ 0.0
pl -36.03 + 0.00

1
50 00

TP delay [ns]

TVC(c,b ch) (4, 10 13

1 nup.qyze+U5 / 25
pO 4306+ 0.0
p1 -35.84+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000
2000

1000

4000 [,
3000

2000

4000
3000
2000

1000

TVC(CbCh) (4,10,2)

TP delay [ns]

TVC(Cbch) (4, 10 6

AT 1w zuse+ud | 25
= po 4235+ 0.0
L pl -34.8+ 0.0

3000

- i 341e+04 [ 25
e, po 4284+ 0.0
N -36.4+ 0.0

TP delay [ns]

TVC(e,b.eh)=(4, 10, 10

1000

0

~1nuzbu1e+U6 / 25
4306+ 0.0
-36.9+ 0.0

TP delay [ns]

TVC(CbCh) (4, 10 14

pD
pl

-1 g 5u3e+U5 / 25
4301+ 0.0
-35.97 + 0.00

PR
100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (4,10,3)

A1 nug.UrYe+ud /25
== po 4241% 0.0
pL -35.13+ 0.00

TP delay [ns]

TVC(c,b Ch) (4, 10 7

-1 nug 135e+U5 / 25
4284+ 0.0
-35.5+ 0.0

TP delay [ns]

TVC(ehch)=(4, 10, 11

1 nuiz.z9ze+U6 | 25
po 4299+ 0.0
p1 -35.49 + 0.00

TP delay [ns]

TVC(cbch) (4, 10 15

Tinuan p.3e+U5/ 25
po 4279+ 0.0
-35.49+ 0.00

TP delay [ns]



4000

3000
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1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,11,0)

X~ 1L 5ave+U4 [ 25
— PO 4219+ 0.0
-33.51% 0.00

[ C=29.84[ps/ch] ». ]

1
50 100

TP delay [ns]

TVC(cbch) (4,11,4

T 3zze+04 | 25
- pO 4284+ 0.0
pl -35.41% 0.00

50 10‘0
TP delay [ns]

TVC(ebeh)=(4, 11,8

1L uzge+Us / 25
— PD 4281+ 0.0
pl -36.58 + 0.00

TP delay [ns]

TVC(cbch) (4,11, 12

X~ 1 nuig 542e+05 / 25
F po 4291+ 0.0
pl -36.44 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 [,

3000

2000

1000

TVC(cbch) (4,11,1)

/1 oe+ud 25
== PO 4232 0.0
pl  -33.39 0.00

[ C=29.95[ps/ch] ™_ 7
1 L

TP delay [ns]

TVC(cbch) (4,11,5

“nuiz411e+ud [ 25
= DU 4276+ 0.0
-35.9 £ 0.0

50 1(;0
TP delay [ns]

TVC(eh.eh)=(4, 11, 9

T rnuy.4b1e+U5 / 25
F pO 4291 0.0
pL -35.22+ 0.00

TP delay [ns]

TVC(cbch) (4,11,13)

i z.aZe+u5 /25
pO 4290+ 0.0
pl -36.53 + 0.00

TP delay [ns]
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2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000 [,
3000
2000

1000

TVC(cbch) (4,11,2)

F ¢ = 30.15 [ps/ch] ™. 1

1
50 100

TP delay [ns]

TVC(cbch) (4,11,6

X~ 1w ssve+U4 [ 25
™ po 4239+ 0.0
L pl -33.17 0.00

3000

T rnuzzze+V4 | 25
o’ pO 4296+ 0.0
3 pl -36.79+ 0.00

TP delay [ns]

TVC(e.bch)=(4, 11, 10

X~ 1L 457e+06 / 25
F PO 4293+ 00
r pl -34.77 + 0.00

TP delay [ns]

TVC(cbch) (4,11, 14

X~ 1z ss1e+U5 /25
po 4278+ 0.0
pl -35.22 + 0.00

TP delay [ns]
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TVC(cbch) (6,7,0

K™ 1nui 7 zee+u4 | 25
freese po 4245+ 0.0
p1 -35.31+ 0.00

TP delay [ns]

TVC(cbch) (67,4

- rnuiz.Sg0e+u4 [ 25
po 4256+ 0.0
pl -34.58 + 0.00

C =28.92 [ps/ch]

50 10'0
TP delay [ns]

TVC(cbch) (6 7,8

- 1 Zsoe+ud [ 25
e, pD 4266+ 0.0
p1 -35.81+ 0.00

TP delay [ns]

TVC(Cbch) (6, 7 12

Tz, ye+u5/ 25
po 4308+ 0.0
p1 -36.2+ 0.0

TP delay [ns]
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1000
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1000

4000

3000

2000

1000

TVC(cbch) (6,7,1

A i Soae+ud | 25
e po 4270+ 0.0
pL -36.52 £ 0.00

TP delay [ns]

TVC(c,b ch) (6 7,5

-1 nu bo3e+ud / 25
- pO 4268+ 0.0
pL -35.16+ 0.00

TP delay [ns]

TVC(c,b ch) (6 7,9

Tonun 5. 34e+05 / 25
po 4278+ 0.0
p1 -36.16 + 0.00

TP delay [ns]

TVC(c,b Ch) (6, 7 13

Tinuigzz(e+u5/ 25
pO 4304+ 0.0
p1 -36.98 + 0.00

TP delay [ns]
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1000

4000
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2000

1000

TVC(cbch) (6,7,2)

X~ 1z 310e+04 [ 25
e po 4275+ 0.0
[ p1 -36.08+ 0.00

3000

TP delay [ns]

TVC(cbch) (67,6

- C = 28.69 [ps/ch]

-1z Bobe+u4 / 25
pO 4275+ 0.0
p1 -34.86 + 0.00

50 10'0
TP delay [ns]

TVC(eb,ch)=(6, 7, 10

T 1L, 715e+U6 / 25
po 4296+ 0.0
pl -36.69 + 0.00

TP delay [ns]

TVC(cbch) (67,14

Tz proe+us / 25
pD 4307+ 0.0
pl -36.29+ 0.00

TP delay [ns]
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1000
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2000

1000

4000
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2000

1000

TVC(cbch) (6.7,3)

- Zs1e+ud 125
pO 4274+ 0.0
p1 -35.37+ 0.00

TP delay [ns]

TVC(c,b ch) (6 7,7

= nun Sye+u4 /25
po 4273+ 0.0
pl -34.34+ 0.00

C =29.12 [ps/ch] .

50 160
TP delay [ns]

TVC(c,b ch) (6, 7

T 4bue+u6/25
pO 4308+ 0.0
p1 -37.11+ 0.00

TP delay [ns]

TVC(c,b ch) (6, 7 15

Tnan 3.03e+U5 /25
pO 4315+ 0.0
-36.47 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,8,0

K- 1o 77 e+u4 /25
freese po 4240+ 0.0
p1 -34.78:+ 0.00

TP delay [ns]

TVC(cbch) (68,4

i 3zze+04 [ 25
[roasa. po 4332+ 0.0
pl -38.77 + 0.00

TP delay [ns]

TVC(cbch) (6 8,8

-1 S30e+04 [ 25
e, pO 4269+ 0.0
p1 -34.9+ 0.0

4000

3000 - 7

2000 = ]

lo00r C = 28.65 [ps/ch] T

I - o
TP delay [ns]
TVC(c,b ch) (68,12
4000

3000

2000

1000

1 nuiz.49ze+05 / 25
4275+ 0.0
-35.61+ 0.00

L n n n n 1
50 100

TP delay [ns]
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1000
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2000

1000
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2000

1000

4000
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2000

1000

TVC(cbch) (6,81

AL 9a1e+U4 ] 25
-, po 4237+ 0.0
pL -34.64 £ 0.00

TP delay [ns]

TVC(c,b ch) (6 8,5

- nug 1gbe+u4 / 25
- pO 4313+ 0.0
p1 -37.57+ 0.00

TP delay [ns]

TVC(c,b ch) (6 8,9

1 nuiL 3ybe+u5 / 25
= pO 4274+ 0.0
p1 -34.37 + 0.00

[ C =29.09 [ps/ch]

1
50 00

TP delay [ns]

TVC(c,b Ch) (6, 8 13

T inuin41e+U5/ 25
4288+ 0.0
-35.94+ 0.00

TP delay [ns]
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3000

2000

1000

4000
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2000

1000

4000
3000

2000

1000

TVC(cbch) (6,8,2)

X~ 1 i B1oe+U4 [ 25
e po 4262+ 0.0
[ p1 -34.9+ 0.0

3000

TP delay [ns]

TVC(cbch) (68,6

1 nug,8u4e+04 / 25
_— po 4325+ 0.0
N pl -38.05+ 0.00

TP delay [ns]

TVC(eb,ch)=(6, 8, 10

1 nuiLuUse+U6 / 25
po 4300+ 0.0
p1 -34.96  0.00

- C = 28.61 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (6,814

T rnuiLa4/e+05 /25
4274+ 0.0
-34.51+ 0.00

- C = 28.97 [ps/ch]

PR R R S R |
50 100

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000
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1000

TVC(cbch) (6,8,3

A~ 1 iz Ovoe+ud | 25
freess po 4266+ 0.0
pL -35.62:+ 0.00

TP delay [ns]

TVC(c,b ch) (6 8,7

- U 3bze+u4 / 25
- pO 4342+ 0.0
p1 -37.78 0.00

TP delay [ns]

TVC(c,b ch) (6, 8

RIS zu/e+u6/25
4303+ 0.0
-34.69 + 0.00

[ C =28.83 [ps/ch] ]

1
50 00

TP delay [ns]

TVC(c,b ch) (6, 8 15

Tonanz2.32e+05 /25
4283+ 0.0
-34.93+ 0.00

[ C =28.63 [ps/ch]

50

1
100

TP delay [ns]
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1000
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TVC(cbch) (6,9,0

A1 nug ssye+ud [ 25
reese po 4273+ 0.0
p1 -36.48 + 0.00

TP delay [ns]

TVC(cbch) (69,4

Tz 14/e+04 /25
- pO 4294+ 0.0
p1 -35.07:+ 0.00

[ C =28.51[ps/ch]™, ]
% o
TP delay [ns]
TVC(cbch) (6 9,8)
T g gy/e+ud / 25
[oese. pO 4276:‘
pL -34.94 + 0.00
[ C=28.62 [ps/ch] N\ 7]
% o
TP delay [ns]
TVC(cbch) (6, 9 12)
- g s1ze+U5 / 25
= po Azs7z‘
pl -33.89+ 0.00
[ C =29.51[ps/ch] ™_ 7]

L n n n n 1
50 100

TP delay [ns]
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1000

4000
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2000

1000

TVC(cbch) (6,9,1

A1z vsse+ud [ 25
Psese. po 4277+ 0.0
p1 -35.69 + 0.00

TP delay [ns]

TVC(c,b ch) (6 9,5

=1 U bbye+u4d / 25
— pO 4308+ 0.0
pL -35.71% 0.00

TP delay [ns]

TVC(c,b ch) (6 9,9

~ 1 nuiz.anae+U5 [ 25
e po 4287+ 0.0
p1 -35.72+ 0.00

TP delay [ns]

TVC(c,b Ch) (6, 9 13

T 1 nuiz zoge+us / 25
4287+ 0.0
-35.08 + 0.00

[ C =28.51 [ps/ch]

50

il
100

TP delay [ns]
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1000
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2000

1000

TVC(cbch) (6,9,2)

AT 1nusuyre+ud /25
__ po 4298+ 0.0
[ p1 -37.54+ 0.00

3000

-
1 1=

TP delay [ns]

TVC(cbch) (69,6

TP delay [ns]

TVC(cbch) (6, 9 10

T w1 zze+U6 /25
= po 4306+ 0.0
N p1 -35.84 + 0.00

- rnug3ve+ud [ 25
- pO 4316+ 0.0
[ pl -35.62+ 0.00

TP delay [ns]

TVC(cbch) (6,9,14

pD
pl

T 1nuiz4n1e+05 /25
4303+ 0.0
-36.43+ 0.00

TP delay [ns]
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1000

TVC(cbch) (6,9,3)

- Zo1e+ud | 25
preane. pO 4302+ 0.0
p1 -37.02:+ 0.00

TP delay [ns]

TVC(c,b ch) (6 9,7

- U 3yye+ud / 25
— pO 4332+ 0.0
p1 -36.61+ 0.00

TP delay [ns]

TVC(c,b ch) (6, 9

Ty me+u6/25
po 4314+ 0.0
pl -35.91+ 0.00

TP delay [ns]

TVC(c,b ch) (6,9,

X1

15

nuz yose+us / 25
4311+ 0.0
-36.37 + 0.00

1
100

TP delay [ns]
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2000

1000

0

4000 [,

3000

2000

1000

TVC(CbCh) (6, 10 0)

Tz 1se+ud [ 25
froese pO 4263+ 0.0
pl -35.56 + 0.00

TP delay [ns]

TVC(cbch) (6.10,4

-1z bose+ud [ 25
— pO 4273 0.0
pl -36.67:+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (6, 10 8

T rnuizyrve+u4 | 25
N pO 4279+ 0.0
pl -36.84 + 0.00

TP delay [ns]

TVC(cbch) (6,10, 12

1z, szoe+U5 / 25
4281+ 0.0
-35.21+ 0.00

TP delay [ns]
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1000
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1000

4000 [,
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2000

1000

TVC(chh) (6,10,1)

AT 1z 130e+ud [ 25
peoese. po 4266 + 0.0
p1 -36.04+ 0.00

TP delay [ns]

TVC(c, bch) (6,10,5

~1nu ro8e+u4 / 25
— pO 4277+ 0.0
pL -36.16+ 0.00

TP delay [ns]

TVC(c,b ch) (6, 10

T nu.a83e+U5 / 25
. pO 4274+ 0.0
pl -35.74 + 0.00

TP delay [ns]

TVC(cbch) (610,13

TinuaiLylie+us/ 25
pO 4282+ 0.0
pl -35.25+ 0.00

TP delay [ns]
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1000

4000

3000
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1000

TVC(CbCh) (6,10,2)

A” 1 nuiz.444e+04 | 25
o= po 4278+ 0.0
- pl -36.23+ 0.00

3000

TP delay [ns]

TVC(cbch) (6.10,6

1000

- o 395e+04 / 25
o=, po 4287+ 0.0
L pl -36.75 + 0.00

TP delay [ns]

TVC(cbch) (6, 10 10

© i 184e+06 / 25
e, po 4296+ 0.0
- pl -36.68 + 0.00

TP delay [ns]

TVC(cbch) (6.10,14

~ i, ro9e+U5 / 25
__ DD 4284+ 0.0
L pl -35.25+ 0.00

TP delay [ns]
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1000

4000
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2000

1000

TVC(Cbch) (6,10,3)

AT 1 nuzbzoe+ud [ 25
— po 4273+ 0.0
pl -36.96 + 0.00

TP delay [ns]

TVC(c, bch) (6,10, 7

- U Uzbe+u4 / 25
- pO 4288+ 0.0
pL -36.26+ 0.00

TP delay [ns]

TVC(cbch) (6, 10 1

1 nui 3b4e+U6 / 25
pO 4308+ 0.0
pl -36.82+ 0.00

TP delay [ns]

TVC(cbch) (6,10,15

T inuiz r39e+U5 / 25
pO 4290+ 0.0
-35.48 + 0.00

TP delay [ns]
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1000
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1000

TVC(CbCh) (6,11,0)

X~ 1z nsie+U4 /25
bresese. po 4280 0.0
p1 -35.13+ 0.00

TP delay [ns]

TVC(cbch) (6, 11 4

T i ry1e+u4 / 25
- pO 4240 0.0
p1 -36.00+ 0.00

50 10'0
TP delay [ns]

TVC(cbch) (6, 11 8

S Ui ooue+U4 [ 25
— pD 4287+ 0.0
p1 -35.76+ 0.00

TP delay [ns]

TVC(c,b Ch) (6,11, 12

X~ 1w 548e+05 / 25
PO 4303+ 0.0
pl -34.77 + 0.00

I C =28.76 [ps/ch]

L n n n n 1
50 100

TP delay [ns]
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1000
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1000

4000

3000

2000

1000

TVC(CbCh) (6,11,1)

A i avae+U4 | 25
e po 4277+ 0.0
pL -34.37+ 0.00

[ C =29.10 [ps/ch]

1 1
50 100

TP delay [ns]

TVC(c,b Ch) (6, 11 5

~1nu 1b3e+u4 / 25
e pO 4257+ 0.0
pL -37.11 % 0.00

TP delay [ns]

TVC(c,b ch) (6, 11

<1 nuiL 3oe+U5 / 25
- pO 4271+ 0.0
p1 -34.32+ 0.00

[ C =29.14 [ps/ch]

1
50 00

TP delay [ns]

TVC(c,b ch) (6, 11 13

T inaizule+u5/ 25
pO 4303+ 0.0
p1 -34.57 + 0.00

[ C =28.93 [ps/ch]

PR R SR |
50 100

TP delay [ns]
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1000
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1000
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3000
2000

1000

TVC(CbCh) (6,11, 2)

TP delay [ns]

TVC(chh) (6, 11 6

X~ 1wz yaqe+04 [ 25
- po 4296+ 0.0
[ p1 -35.68 + 0.00

3000

- 10, 365e+04 / 25
froese, po 4265+ 0.0
L pl -36.85 + 0.00

TP delay [ns]

TVC(e,b.eh)=(6, 11, 10

X~ 1y 2y/e+U5 /25
po 4296+ 0.0
p1 -35.12+ 0.00

- C = 28.47 [ps/ch]

1
50 100

TP delay [ns]

TVC(c,b Ch) (6,11, 14

X~ 38 /e+U5 /25
po 4320+ 0.0
pl -35.59 + 0.00

TP delay [ns]
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1000

TVC(Cbch) (6,11,3)

A~ 1 nuizgoye+ud [ 25
prsess po 4305+ 0.0
pL -36.63+ 0.00

TP delay [ns]

TVC(CbCh) (6, 11 7

= 1 nuy bUle+ud / 25
po 4268+ 0.0
p1 -35.79 + 0.00

TP delay [ns]

TVC(EDeh)=(6, 11, 11

T nuiLz3Ye+u6 / 25
k. pO 4297+ 0.0
pl -35.33+ 0.00

TP delay [ns]

TVC(c,b Ch) (6, 11 15

T nui r9oe+U5 / 25
4318+ 0.0
-35.26 + 0.00

[ C =28.36 [ps/ch] ]

PR R SRR |
50 100

TP delay [ns]
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4000 [,
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1000

TVC(CbCh) (6, 12 0)

TrnuiLyr1e+u4 /25
freee. pO 4237+ 0.0
pl -34.4+ 0.0

[ C =29.07 [ps/ch]

1
50 100

TP delay [ns]

TVC(Cbch) (6, 12 4

- nui329e+04 [ 25
e po 4293+ 0.0
pl -37.58 + 0.00

50 10'0
TP delay [ns]

TVC(eb.oh)=(6, 12,8

- iz 3b5e+U4 | 25
e, pD 4253+ 0.0
p1 -35.03+ 0.00

TP delay [ns]

TVC(c,b ch) (6, 12 12

~ i, ruve+Us / 25
4278+ 0.0
-34.57 + 0.00

I C =28.92 [ps/ch] ]

L n n n n 1
50 100

TP delay [ns]
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1000

4000

3000

2000

1000

4000
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1000

4000 [,

3000

2000

1000

TVC(chh) (6,12,1)

AT 1 nuiL2yve+u4 [ 25
rnase po 4247+ 0.0
p1 -33.56 + 0.00

[ C=29.80 [ps/ch] ™_ 7
L L

TP delay [ns]

TVC(c,b Ch) (6, 12 5

-1 nu.4u8e+04 / 25
e, pO 4286+ 0.0
pL -36.77:+ 0.00

TP delay [ns]

TVC(eb.oh)=(6, 12,9

T nuiLyl/e+u5/ 25
- pO 4276+ 0.0
p1 -34.84 + 0.00

[ C =28.70 [ps/ch]

1
50 00

TP delay [ns]

TVC(c,b ch) (6, 12 13

T inuiL1n3e+u5 / 25
4275+ 0.0
-34.72+ 0.00

[ C =28.80 [ps/ch] 7

PR R SR |
50 100

TP delay [ns]
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1000

4000 [,
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1000
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2000

1000

TVC(CbCh) (6,12,2)

A~ 1 nui y4se+u4 | 25
- po 4244% 0.0
[ p1 -33.57+ 0.00

FC=20.78 [psich] ™. 1

1
50 100

TP delay [ns]

TVC(c,b ch) (6, 12 6

-1 nuz 389e+04 [ 25
e, pO 4280+ 0.0
[ pl -36.76 + 0.00

TP delay [ns]

TVC(cbch) (6, 12 10

T nuy.zz3e+U5 | 25
po 4286+ 0.0
p1 -34.56  0.00

- C = 28.94 [ps/ch]

0

1
50 100

TP delay [ns]

TVC(c,b Ch) (6, 12 14

~ i 1s4e+U5 / 25
- pD 4284+ 0.0
L pl -34.18+ 0.00

- C = 29.26 [ps/ch] ™. 1

PR R R S R |
50 100

TP delay [ns]
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1000
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1000

TVC(Cbch) (6,12,3)

X- 1 i sbae+U4 | 25

po 4273+ 0.0
pL -35.5+ 0.0

TP delay [ns]

TVC(c,b Ch) (6, 12 7

11ug zz1e+04 | 25

po 4319+ 0.0
p1 -38.14 + 0.00

50 100
TP delay [ns]

TVC(Cbch) (6, 12 11

T nai 114e+06 / 25
k. pO 4309+ 0.0
p1 -35.75+ 0.00

TP delay [ns]

TVC(cbch) (6, 12 15

1z z33e+U5 [ 25

_ )j

4260+ 0.0
34.17 + 0.00

[ C =29.26 [ps/ch] ]

PR R SRR |
50 100

TP delay [ns]



TVC(CbCh) (6, 13 0)

4000 [

3000

2000

1000

po

pl

T rnuizus1e+u4 [ 25
4258+ 0.0
-36.72+ 0.00

TP delay [ns]

TVC(Cbch) (6, 13 4

4000 [,

- rnuLyl1ze+ud / 25
4218+ 0.0
-35.42+ 0.00

- pO
pL
3000 - 7
2000 ]
1000 C 7]
1 1 -
50 100
TP delay [ns]
TVC(c,b, ch) (6,13,8)
Tnuzy4e+u4 /25
4000 fnen pD 4254+ 0.0
p1 -34.74 £ 0.00
3000 - ]
2000 = 7
or C = 28.79 [ps/ch] ™, ]
1 1 -
b 50 100

TP delay [ns]

TVC(c,b ch) (6, 13 12

4000 [,

3000

2000

1000

pO

p1

- 1nuzplie+ud [ 25
4265+ 0.0
-35.06 + 0.00

TP delay [ns]

TVC(chh) (6,13,1)

4000 s po

A1 Lylie+ud | 25
4268+ 0.0
-36.7+ 0.0

p1

3000

2000

1000

TP delay

TVC(c,b Ch) (6, 13 5

4000 pO

pl

[ns]

T nun183e+04 /25
4222+ 0.0
-35.86 + 0.00

3000
2000
1000 C
1 1
50 100
TP delay

TVC(eb.oh)=(6, 13,9

4000 [,

[ns]

TinuiLa//e+u5/ 25
4287+ 0.0
-35.2+ 0.0

3000

2000

1000

TP delay

TVC(c,b ch) (6, 13 13

4000 e

[ns]

T nuizusae+ud [ 25
4236+ 0.0
-34.17+ 0.00

3000

2000

100F C = 29.27 [ps/ch]

PR R SR |
50 100

TP delay

[ns]

4000
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2000

1000

4000
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2000

1000

4000 [,

TVC(c,b,ch)=(6, 13, 2)

ur

T
- po

X1 896 / 25
4265+ 0.0
p1 -36.24 + 0.00

TP delay

TVC(c,b ch) (6, 13 6

[ns]

-1 nuz 198e+04 / 25
4225+ 0.0
-35.38 + 0.00

= PO
i =
[ C =28.26 [ps/ch
5(') 10'0
TP delay

TVC(e,b,ch)=(6, 13, 10

[ns]

T nuiz311e+u5/ 25
4265+ 0.0
-33.82+ 0.00

- DO
[ pL
3000:— 7]
2000:— _:
1000:— C =29.57 [ps/ch] - _
3 5(') 10'0 =
TP delay [ns]

4000

3000

2000

1000

TVC(c,b Ch) (6, 13 14

=1 nugsule+ud [ 25
4256+ 0.0
-34.75+ 0.00

F— o
L pl
- C = 28.78 [ps/ch]™.,
et
TP delay

[ns]

TVC(Cbch) (6,13,3)

4000 fmmms po

pl

A1 nuiz 140e+U4 | 25
4271+ 0.0
-36.3+ 0.0

3000

2000

1000

TP delay

TVC(c,b Ch) (6, 13 7

4000 pO
p1
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-35.47 + 0.00
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T nuiLg1Ye+U5 / 25
4273+ 0.0
-36.68 + 0.00
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-36.56 + 0.00
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-35.2+ 0.0
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1 1 -
0 50 100
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-1 nu Toze+ud / 25
[Feces po 4281+ 0.0
pl -35.69 + 0.00

TP delay [ns]
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-34.95+ 0.00
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[ p1 -35.81+ 0.00

3000

TP delay [ns]

TVC(cbch) (76,6

T nug,p3ze+u4 / 25
e, po 4295+ 0.0
- pl -36.11 + 0.00

TP delay [ns]

TVC(eb,oh)=(7, 6, 10

© 1 nuiLuLoe+U6 / 25
- po 4293+ 0.0
L pl -35.58 + 0.00

TP delay [ns]
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pL -36.41+ 0.00
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= 1 nu 2u4e+ud | 25
po 4309+ 0.0
p1 -36.52+ 0.00
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TVC(c,b ch) (7, 6

Sy zze+u6/25
- 4277+ 0.0
-34.7+ 0.0

[ C =28.81[ps/ch] ]
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3000 - - 3000 -1 3000 :— —_ 3000 - -1
2000 |- 4 2000 - 2000 — — 2000 4
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TP delay [ns]

TVC(eb,oh)=(7,7,8

©nug o3be+u4 / 25
= pO 4273+ 0.0
pl -35.19+ 0.00

TP delay [ns]

TVC(cbch) (7,7,12

-1 nuz,uuze+Us / 25
— PO 4278+ 0.0
-37.3+ 0.0

-
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-1 nu 314e+04 / 25
— pO 4271% 0.0
p1 -35.49 + 0.00

TP delay [ns]

TVC(c,b ch) (7, 7

T rnun 3ore+us/ 25
== pO 4283+ 0.0
pl -35.81+ 0.00

TP delay [ns]

TVC(C, bch) (7.7,13

~ 1 nuiLuzZoe+us / 25
—_ pO 4279+ 0.0
p1 -37.57+ 0.00
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TVC(cbch) (7.7,6

-1 nuzBaye+u4 [ 25
- pO 4289+ 0.0
L Pl -36.16+ 0.00

TP delay [ns]

TVC(ebeh)=(7, 7, 10

1000

~ by ze+U5 / 25
== DO 4287+ 00
I pl -36.11 + 0.00

TP delay [ns]
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- i 20 7e+05/ 25
—— pD 4274+ 0.0
I -36.61+ 0.00
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4000 s po 4261% 0.0 4000 [, po 4275+ 0.0 4000 [ po 4273+ 0.0 4000 [ po 4279£ 0.0
-34.67 % 0.00 pl  -35.320.00 [ Pl -34.96% 0.00 Pl -35.24%0.00

TP delay [ns]

TVC(c,b ch) (7 7,7

~ 1 nub 342e+04 / 25
- PO 4290+ 0.0
Pl -35.74%0.00

TP delay [ns]

TVC(c,b ch) (7, 7

1)
1 nuiLuzae+u6 / 25
= pO 4295+ 0.0
pl -35.67 + 0.00

TP delay [ns]

TVC(C, bch) (7.7,15
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= PO 4276+ 0.0
pl -37.03+ 0.00

TP delay [ns]
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pl -35.92+ 0.00
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TVC(cbch) (7,84

-1z 3p4e+04 / 25

e pO 4236+ 0.0
pl -35.56+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (7 8,8

T 3 re+u4 /25
- pO 4252+ 0.0
pl -35.05+ 0.00

TP delay [ns]

TVC(cbch) (7,812

1y 430e+04 / 25

e, po 4266+ 0.0
pl -37.21+ 0.00
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4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7.8,1

AT 1z suse+ud [ 25
prese po 4233+ 0.0
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TP delay [ns]
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-1 nu.2y3e+u4 [ 25
e pO 4244+ 0.0
p1 -35.94 + 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (7 8,9

<1 nuiL Zype+u5 / 25
po 4273+ 0.0
p1 -35.76 £ 0.00

TP delay [ns]

TVC(C, bch) (7.8,13

T inui, rzoe+ud [ 25
— pO 4275+ 0.0
pl -38.02+ 0.00

TP delay [ns]
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I+ po 4249+ 0.0
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a000 T
2000~ 7]
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- --

1 1
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L pl -35.31+ 0.00
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e, po 4250+ 0.0
L pl -35.99 + 0.00

TP delay [ns]
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TP delay [ns]

TVC(cbch) (7,814
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AT 1z ra3e+u04 1 25
Foeee po 4232+ 0.0
p1 -34.68 + 0.00

TP delay [ns]

TVC(c,b ch) (7 8,7

-1 nu.yase+u4 / 25
- pO 4262+ 0.0
p1 -36.47 + 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (7, 8

T g, bz4e+u5/25
pO 4253+ 0.0
-34.73+ 0.00

[ C=28.79 [ps/ch]
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50 100
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TVC(C, bch) (7.8,15
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p1 -37.63+ 0.00
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-1z 4p9e+04 / 25
e pO 4244+ 0.0
pl -36.97:+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (7 9,8

©nuz.yzoe+u4 | 25
—. pO 4245+ 0.0
-34.58 + 0.00

C =28.92 [ps/ch]

1
50 100

TP delay [ns]
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4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,91
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= po 4235+ 0.0
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TP delay [ns]

TVC(c,b ch) (7 9,5

1 nu bzze+u4 | 25

Froeen pO 4251+ 0.0
pL -36.38+ 0.00

TP delay [ns]

TVC(c,b ch) (7 9,9

11U, Yove+us / 25

- pO 4277+ 0.0

35.35+ 0.00

TP delay [ns]
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- pO 4259+ 0.0
-36.8+ 0.0

50 1(;0
TP delay [ns]

TVC(c,b ch) (7, 9

T iUée+U6/25
po 4278+ 0.0
p1 -35.48 + 0.00

TP delay [ns]

TVC(C, bch) (7,9,15

-1 nui sbye+u5 / 25
pO 4289+ 0.0
p1 -37.73+ 0.00
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50 10‘0
TP delay [ns]

TVC(cbch) (7, 10 8

Tnuzyse+ud /25
N pO 4269+ 0.0
pl -36.42+ 0.00
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[ pl -36.26+ 0.00

TP delay [ns]

TVC(cbch) (7, 10 10

© 1 nuiL410e+U6 / 25
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pl -36.32+ 0.00

TP delay [ns]

TVC(cbch) (7.10,14

T g, 34ze+04 | 25
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